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In an election between two
candidates, One candidate got 48%
of the total valid votes. 18% of the
votes were invalid. If the total
number of votes was 17500, then
what was the number of valid votes
the other candidate got?

&l SHficart @ &9 & g9 |4, (B
SHIGdX &I &l d9 dicl &1 48%
dic el | 18% dic 3Idg oA, afe &
qdl @1 wEar 17500 ofl, A gER
SHilcaR &1 9rd 99 wal &1 a1
w7 of1?

C X@7s12  XKb) 14350
(AT 7462 X(d) 8750



(b) Rs. 84,400.44
(c) Rs. 80,00.24

A loan of Rs. 1,50,000 is availed
with compound interest rate of 10%
per annum for two years
compounded annually. It is to be

paid in equal yearly instalments;
and the instalment is to be paid at

the end of each year. The value of
the equal yearly instalment is:

(Rounded off to two places of
decimal)

1,50,000 ¥YA HT 9T 10% BT o
gl a8f & fay ufa ad &1 asqfs
AT o)X & 9 forr wrar 2,
giitfe wu | wIifora giar 21 s9a1
Hrar gq9 anitie fezal d fear
O ?; AR fawa &1 qraE gde
a8 & 3 A fear &= 21 9EE
aiitie few &1 Yo 2: (SIMeld @

(d) Rs. 82,208.67 31 Y @@ quiffaa)



In an election between three

candidates A, B and C, 80% of the

l no @ registered voters voted and all the
—— votes were valid. Candidate B got
A_ B C_ 50% less votes than A, and the
difference between the number of

Q?# ”‘ ‘# ptes secured by B and C was
If B got 10% more votes

than C, then the number of voters

g ' registered on the voting list is:

ke < S¥figart A, B3R ¢ @& €9 s

af'—” Hw gIrd #, 80% UGlidd HAdQIARN A
Aaer fear ik @il ate dg o

‘@ﬁ SHlcaRk B &l A ¥ 50% $H dlc

i, 3k B 31Y € W1 U diel &)
AT & «§d &I 3Ad¥ 10000 27| Afe

(a) 175000 (b) 430000 B @I C ¥ 10% 3if&re ale fid, al

AagE gdi # Uolied AdQIAl &l
(c) 220000 {_4df §_3:_7500 Py s




Without stoppages a train travels a
certain distance with an average
speed of 75 km/h and with
stoppages it covers the same
distance with an average speed of
65 km/h. How many minutes per
hour does the train stop?

Uh Yamel foqr fedy e & 75
feft /a2 &) sitwa wfad | aad) @
IR AT b A1, I8 65 fHHI /€
@1 3tad wfa @ dadl 2| YS!
gfa = sitaq feaa fise sadl 87

(a) 10 min (b) 7 min

()9 min  \ &8 min



A retailer purchased some goods
for Rs. 1,280 and he snld(nne-thira
at a loss of 15%. At what gain
percentage should the remaining be

sold, so as to gain 15% on the whole
transaction?

Ud goul fadar ° &% 9™ 1,280
S0 ¥ el 3R Sud Ua fasrg
15% &1 8 OX d491| 99 &1 fbaq

o9 ufaera a) €91 o= 9rfee, arfe
R oo WX 15% &1 9 9T &1°?

(a) 32 percent Wﬁ percent
(c) 28 percent (d) 31 percent




Ratio of Copper and Gold in first
and second alloy are 3 : 4 and 2:5
respectivel 3> nf the first alluy
is mixed wisy gpr of the second
alloy. Find the ratio of Copper and
Gold, respectively, in the new
mixture.

<l Bys grqart § $uer ard | i
@ IUId 3: 4 3R 2:6 2| X 7Y
fisarg &1 91 @ fav ggd fFiseng
@ 14 foal 3R @R Ay a1q & 21
foet &1 ve @i framn omar 2,
¢ g grg § aid | 99 1 AU
T 27

Xa) 23 12)(){) 17 : 130<
>)5: 9k 12 23v”



(a) 180 days Jb(zoo days

(c) 160 days

(d) 210 days

P can do a piece of work in 200
days. Q and R can do the same work
in 100 days. P, Q and R started the
work together and they worked
together for 40 days and then Q left
the work and _PE_and--R together
finished the remaining work jn _40
days. Find the number of days in
which Q alone can do the total

work.

P U 1A &I 200 f&1 § g1 9
Ghdl 21 Q X R AT d1 dI 100
feqf ¥ o 9dd 81 P, Q 3R R
Udh 91 &M I fHar v S=|IA 40
fosii @ ua arer e fhar iR e
Q 74 &M vis fear ik P 3R R A
fraredr oy &1 40 a1 & Q1 fobar|
S e @7 g sa sifve e
Q3rdd el BRI HXY WHdI © |




election between A and B, B

secured 16,200 votes and defeated A
e

by 8% of the total votes. If there are
no invalid votes, what is the

difference in votes between A and
B?

A3R B dld t& g9 4, B
16,200 dic BIfid fHhy IR A & G
dici @ 8% d B fear| afe &g

Ay dic el ©, d A 3R B & dI4
dicl &1 3fdax &r1 27

(a) 2300 (b) 2500 e_ﬂ __&/

(c) 2200 \!;l-rﬁmo



6 7‘-? A car driver is driving car at a

C 72..9 speed_of 70 _km/h and a bus is
mo m: metres ahead of him.

3< | .
er seconds, the bus is 40

l{O "?netres behind of him. Find the
speed of the bus.

Fo-M =\3 UF @R aq@d 70 ft/wer @ afa
4 ®R 9dl &1 © AR (s 99 394

j 35 Hlex AT dd Y8l B | 15 GhsS &
3;5_1’9_-:-0\7[& q1¢, 99 S99 40 2| 99
JKS &1 T STd DI |

(a) 78 km/h @152 km/

\”N (c) 64 km/h  (d) 65 km/h



In March, a shopkeeper has
launched a discount scheme for 20%

discount on the purchase of jeans
iscount on a coat. Also,

21 aring 5% discount on using

jeans of marked price of Rs. 1,200
and a coat of marked price of Rs.

pay if he pays through an HDFC
gank card?

4d 4, Ud gaFeR 1 Wi @l @l
X 20% BT IR $Ic W 12% BT DI
BT VAT Y& B B | WA B, 98
ddd HIaHE & Ay SBI @IS &I



YT & WR 5% dI 8¢ Hl 7 V&I
2] AT 7 1,200 $UF @& 3ifda qeu
@1 ofi 3R 4,500 39 & fdhd Jeu
R U dic @ller| afc 98 HDFC
d% dre & WA W HIAAH YAl B
dl 99 _fdasn {IaE BT I

Rs. 4,920 (b) Rs. 4,560
(c) Rs. 4,674 (d) Rs. 5,016



If a person weighing 40 kg joins,
then the average weight a group
increases by, 1 kg. If the jweight of
this person\had been 28 kg, then

the average “Weight of the group
would have decre 1 kg. The
actual average weight of the group
is:

afe 40 fHalm goe arer «@fbp
el ®ar 8, o 9¥E &1 Aad
ao- 1 feenum™m 9¢ wrar 2| afe g9
afth 1 e 28 fdaum zial,
g &1 iEd qud 1 feaiam &4
g Oar| 9g &1 qafad  3ad
qul o

(a) 39 kg (b) 24 kg

(c) 34 kg (d) 29 kg




1%, .62
>

). Find the value of y in the

expression

Ald H y BT A STd DI |

25

3 4112 l

—X —ﬁ —%-ﬁ,)“dra] 21/5
o o

©

18

P, DL
6 36)

(b)19/3
(d) 15/2

=y+72.5%204.



A and B are two typists. One
afternoon, they were each given 80
pages for typing. They gu' jded the
work equally, but Bﬂ'finished 40
minutes before A, who took 4 hours
for the same. The next aﬁ'& .n::;l-,
they were again given 121 pages to
type. However, this time they
decided to divide the work such that
they finished typing simultaneously.

How many pages did A have to
type?

A 3R B QA el &1 & Juey,
S 9 udd $l <rsfiT & fery 8o
yss fag g S| &l &1 |
wy 9 fauifora fean, dfé1 8 4 A 9




40 e usd v &x forar, foras
su® forv 4 g2 &1 99y forar| anref)
qIUER, 9= fhY ¥ TI3U &xd & fov
121 99 fqu Q| graife, 39 9R
SBId BM Bl 39 d¥g dled Bl
oacl fear f& 4 s wrr esf
& B o | A @I fhad 99 2Ry HA
4?

(a) SO pages (b) 77 pages

(c) 60 pages M pages




A toy is in the form of a gope
mounted on a hemisphere. The

radius of the hemisphere and that of
the cone is 7 cm and height of the

—
cone is 5 cm. The total surface area
H ——— e S

of the toy (take =n = 22/7) is

{ (rounded off to two places p,
decimal).
s Radir (6 o6 & AMBR &1 2
ol Jefme WY @ g3 = | JEd
AR oig o B 7 46 2 AR g
@ Harg 5 9 2| fEdld &1 6o
qdg 3% (AF Y = 22/7)
- 0 2 (@Wdad @& & wWHE qa@
ot o) |
(a) 2648.81 cm? (b) 2666.85 cm?
\—fe) 497.25 cm?2 (d) 486.66 cm?
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A, B and C together can complete a
piece of work in 40/3 days. All three

l40 ‘5' ) started working at it together and
e —3 66‘0 7 after 5 days A left. Then B and C
3 together completed the remaining
l?xg 25 work in 1Z days. Find the number of
. days (approximately) in which A

5 .630- alone can complete the total work.
N, A, B 3R Cc fAaax fedl & d &1
< 40/3 f&=IT 4 QX1 B} Wahd = |
4 ey SR S HAT I (6
@ IR 5 f&a1 @ 919 A 71 ¥ ®Bis
fear) R B 3R € 4 fIasx 9y
(a) 24 days (b) 29 days &g 17 fear 4 g1 fear) S+ fe=
D AT (o) STd DIfSiY f[5-14 A

Ner26 days  (d) 44 days g g B qu DY W R 12



'35'__ 204'75 {'7...

0 4 X5- +3-
T 1o

)<(a) 111.95 km )() 110.95 km

_~(c) 112.5 km )6 113.95 km

Ravish travelled the first 20 km of

an entire distance at a speed of 12
km/h; the next 25 km at a speed of

10 km/h and the remaining
distance at a speed of 15 km/h. If
his overall average speed was 13.5
km/h, what was the distance that
Ravish travelled at a speed of 15
km/h?

XA 4 N 8 1 ugen 20 fHHT 12
feft yger & wfa | au fean snra
25 ol &1 <& 10 fHd /ger &1 wfa
| 3R =Y g8 15 fdHdl /ger &1 ia
4 a3 fear) afe susd o tad
fa 135 fedfi /ger off, o <der =
15 fo i /ger &1 wfa |4 fead 40
aa @al?




Jack can do a piece of work in 30
days. Ryan can do this work in 14
days. Jack started the work alone.
After how many days should Ryan
join him, so that the work is
finished in 15 days?

o Udh H1H 30 fef & H gadr 2 |
Raq a8 &rd 14 oA 9 &) aGdar
21 Wb A dad B B YE fHar|
= &t feaa feif @ 9 S9@
a1 SeA1 9rfey, drfeé &M 15 &
} g 8l WIg?

(a) 4 days (b) 7 days

—{CT 8 days (d) 5 days




In a triangle, if the longest side
has length 15 cm, one of the

another side has length 12 cm and
its perimeter is 34 cm, then the

q— area of the triangle in cm? is:
\Q/ fodt P o, afe gad odl o @)
dqrg 15 941 2, U qur & dqrg

12 9t 2 3R SgaT uRug 34 G
g, d B &1 d3%a 49 @:

\ ‘S_ 1017 (b) 517
H‘)(&ESX\Q_ (©) 515 \ ) (a) 10415



A bike rider covers 100 km at a
speed of 75 km/h. At what speed
does the rider have to drive for the

S\\U)

next one hour to get an average

%_: ,00,‘_1 speed of 90 km/h?
— U% d13® 9dR 75 fHH /°ger @ ufa
Y4 ¥ 100 fHf @ & ¥ Hxar 21 90
3 Rl /vicT @ st TRy T @ g
HIR &l ATl U Hc db fed i

d T g g8

M 110 km/h (b) 90 km/h
(c) 80 km/h (d) 100 km/h



Compound interest of Rs. 21,515

is received on sum of Rs. 65,000 in
a period of three years. What was

the rate of interest on which the
sum was being compounded
annually?

65,000 ©Ud Pl Gl R W dhqlg
o 21,515 0 fad 8 9 9rd
@) Iafr ®, &9 @Y a8 ¥ qar o
forg wr ¥ aiffe wu 4 waifoa

@1 o1 32T off? ®
(a) 11% (b) 12%

(c) 13% L) 10%




Find the third proportional of (b2 -
a2) and (b2 - ab).

(b2 - a2) X (b2 - ab) &I NI




Prasad alone can complete a work
in 144 days. How many people were
required with the same efficiency as
Prasad to complete the same work

in 16 days?

UgTG o U drd I 144 fo o
@RI & Gohdl = | SH & Bl 16
?Oﬁﬁ'ﬁwmﬁ$mm$
SR £ 1 S+ 1< | S | O 1 s O 1 O 1

/@ HOIA) Makjadw ITaegHdr gf?
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Abdul’s salary is Rs. 1,50,000 per
month. He spends 10% of his salary
on paying the school fees. He got an
increment of 3% in his salary in the
month of July, but the school fee
was hiked by 5% the same month.
What will be the net change in his

‘0\) — Ig(f\/'\/osaving in the month of July if the

22

Xa) Decrease of Rs. 3,750
)qh] Decrease of Rs. 2,750

«_JerTncrease of Rs. 3,750

(d) Increase of Rs. 2,750

other expenditures are the same?

3fegel &I dd-1 9fd AT8 1,50,000 ©UA
8, 98 U ddd B 10% Thd DI
B AR R @d Bl 2| Sdrs
A8 ¥ S dad ¥ 3% I 9fE g3,
dfda S 781 Thd @ B q 5%
P deladl dx <f T8 | Afe I I
H4E & dl Gdlg HJ1E | 39Dl 99d
q 3 uRads @ar ghm?




A company offers different types of
discounts schemes.

(i) Two successive discounts of

ﬂ 10% and 20%

{D (ii) Buy 1 get 1 free 3
3‘}.{ (iii) By 5 get 3 WGM;H

el (iv) BuySEﬂt 6 =) BWS(@”&’&
‘6 66/,—— Which scheme has the minimum

discount percentage?

Uhd HUdl fafrT geR @1 Be
IS0 USTH Hdl 2 |

(i) 10% 31X 20% DI &I HAD BT
(ii) 1 @] 1 H¥d UIg

(iii) 5 b 3 H¥d UTY
iv b) (iii
\_/M) (b) (153 (iv) 5 @Sl 6 granl

() (1) (d) (i) fog atomT & =g=aw s ufawa 27



A park had an average of 30
hildren playing on week days and

UX‘“ y Wekund?
\/J an average of 60 children playing on

@ @ weekends. Find the average number
of children playing per day in the
park for the month of June

beginning with a Saturday.

Uh UTh A g« & fe-l & 3itgd+

(W)
@ G’ 0 T dwd & sk Wi
gaT 60 s=d Wod 2| wfHER 4@
URH B9 arel o Are ® ufafes o
§ W dlel dedl @ Jad g&AT
SITd DI |

(a) 45 (b) 60
430 (d) 30




A shopkeeper buys three products
a, b, c and sells them at 20%, 30%,
40% profit, respectively. What is
ratio of the selling price of these
products, if the ratio of their cost

Mxlz.-sxl%# 1I::\r:nasis4:3::‘3":';r o

EdEdl & 3R S= B 20%, 30%,
40% <TH YR d49dl 8 39 SUIGl @
[ Joa &1 Iqura @0 % !TI?.'

(a) 34-24 : 12((b) 48 : 39 : 28
(c) 56.:26: 21 (d) 24:39: 14



What is the value of

3 S 8 24 11 13
—of — + —

7% 1177721756 33"
335 ) 308
303 325
2;;"!?é5$5t1175 a) 118
316 311
1S4 |- S
3

=t






